ERSEAROBHREERT —IR—BISH—F 20224118258 (8) 16@iEE18

(@RISR B USR3mLE BRI R
[AE%) 1 7&:800,00H ~ 2&:25%,000H  3%&:144,000H  43#%&:9,000H 5 3&:64,000 9
B RS FRESS /IR HE B5F (F28) FA4L (5% | BBIEML | E3F |[SIEY | AT | #AE | B FIR) / BF / S£ERS
~ ~ 5 | SAkER 1:59.6 3-3-3-3 | 41.0] - 3 506 | REZE (IE8)
1 2 cN—tEYRAFUU # 56.0 ) “2) (IﬁJ)ﬁJ Pﬁ}iﬁﬁ
Rib—trya—sy B:7RIAVF+OL BR|t IRF«4T77—L4
- T : 11 - WEBBA (52
25| 5| HYsARALXZ 4 5 L= 1.(519).8 1-1-1-1 | 41.6 2 :1_929) e
RiW—>—vvF B:AUTZAr—U— EE e
o 4 4 | 2LRE 1:59.9 9-9-4-4 | 40.8| — 1 508 | tHEBIF (£E)
318]11| RE=RIL 56.0 (3/4) 6 | BB
R:JUA—=Y B:HZI wH g
S~ 0 = 4 | Hdid 2:00.0 10-10-8-6 | 40.6 | — 5 506 | FEEF (£E)
4 4 I7SYITS i 56.0 (3/4) (5 |EEEE B
RiRyI—IIRI B:ZSTIATA ke
<, = HKIBA : -6-5- - SENE (K8
N : BESSEZ e R k7 S B R Rl e
R:I—VRFUI— B:F3UIPITSR ke
<~ $—~ LO# : -2-2- - REM (£8)
6 7| T4vIRESY 4 5 g 2.?8.5 2-2-2-5 | 42.1 6 :1_993) ‘j_u;ﬁg
RiI=IVI-54Y B:I-IyVhU—F REHRUS
= 4 5 | PUEE 2:01.0 1M-11-11-8 | 41.4| — 10 | 490 | FEBF (E&H)
71719 | 79T 4RY A51.0 2172 (-5) | TERERESE
AX:Bullet Train &:Sh Sh Shakin’ University of Ken
~ )5 f 4 | REES 2:01.4 5-4-6-7 | 42.4| — 9 | 460 |EOEX (EE)
8l1]1|F¥IoU 54.0 Q) -6) BA%T
RibE—=RXTd—F— B:Ea2—F«—U3 g IE
S st 4 | IS 2:01.4 12-12-12-10| 41.2 | — 7 514 |WTFEX (ER)
9l710/ B /LA 56.0 &) © |1BAB
RIRTVFUY B:hY/4vhO—R 27 N
i3] :01. -7-9- . - AEFX (K8
10/5] 6 | RPDFDIT VIR # 6| TN (21011/27) 799 | " 3_919) BEAE
RiFAIXTv— BRRHITIZATLR S Db EN
a ~ W it 5 | GlllE 2:03.0 8-8-10-12 | 43.6 | — 8 470 | EETE (E8)
11lgl12 EFOYZIYY 580 & vy | @) 5Y=U7 o5k
R:O—IRAUXA B:NFRY MER Y R
== »3 ~ 3 | BllEs 2:03.1 4-5-7-11 | 44.2| — 4 515 | FLERS (EE)
EH g| TAILEYVEY H 56.0 (3/4) (125) | TTEIIERE =
RIIET7RAT7 8B:739—/\—h e
@ 11— —®BIEfI
13—7— 5,7,2,8,1,6,3,12,11,4,9,10
20—F— 5,7,2,1,8,3,6,12,11,4,9,10
30—7— 5,7,2,11,3,1,8,4,6,12,9,10
43— — 5,3,2,11,7,4,1,9,6,10,8,12
o ILRE
B B 2 450/ JA R 2-5 400/ % 5E 2-5 1,430 3EE 2-5-11 1,430
7B B 2 140 2-1 240/ 5 & 2= 1,430 3EH 2-5-11 10,040/
5 160M4 5-1 320/ Ba 2-5 2,740
I 110

ABIC OV TRUTEREERRODDZE. THRIIZEL.



